

**Region:** 5

**Location:** MD002

**CSS #:** 32282

**Maximo Work Order No.:** 15002

**Asset #:** NA

**Date Issued:** 9/9/21

**Original Description:** Roof leak in room 220

**Repairs Needed:**

S&S proposes labor and materials to clean and seal approx 1000sqft of roof, cover large holes and cracks, and apply 3 coats to ensure the area is sealed properly over 3 deployments.

**RS Means Line Buildup and Labor Summary (Data Version 2017, Q4):**

Quantity	Line Item Number	Description	Labor Hours	Labor Rate/Hr	Materials	Equipment	Total
--	NA	Materials (see attached detail)	--	--	\$1,796.07	--	\$1,796.07
--	NA	SS Labor (includes diagnostic)	61	\$82.79	--	--	\$5,050.00
--	NA	TW Coordination	4	\$80.00	--	--	\$320.00

**Estimate Summary:**

Labor Hours	Labor Cost	Material Cost	Equipment	Total Cost	CE Factor	Total Estimate
65	\$5,370.00	\$1,796.07		\$7,166.07	106%	<b>\$7,596.03</b>



**S&S MECHANICAL**

**S&S Mechanical**  
4831 South Crain Highway  
Upper Marlboro, MD 20772

Tel. 1 - (301) 574-1555  
Fax. 1 - (301) 574-1558  
www.sandsmidatlantic.com

## CUSTOMER QUOTATION NO. 713

Tidewater, Inc.  
Tidewater, Inc  
6625 Selnick Dr.  
Suite A  
Elkridge MD 21075

**Quote Name:** 15002  
**Quote No:** 713  
**Site:** MD002 Ordnance Road  
**Site Contact:**  
**Salesperson:** Lindsay Ruby  
**Created Date:** 09/08/2021  
**Valid For:** 30 Day(s)

**WO#:** 15002

**CSS Ticket Number:** 32282

**Problem:** Roof leak in room 220.

S&S proposes to furnish the necessary labor and materials to clean, seal approx 1000 sqft of roof using a high quality silicone sealant (white); once cleaned, we will cover larger holes, cracks with a butyl rubber roof tape for added coverage of known holes & cracks. This product is proven to be very effective for this application. We will provide three coats to ensure the area is sealed properly. Dry times are anywhere from 6 to 12 hrs. between coats. This project will consist of three separate deployments.

### Service

Item	Quantity	Unit Price	Total
Roof Tape	4.00	\$27.59	\$110.36
Gaco Roof	4.00	\$335.99	\$1,343.96
Lacquer Thinner	1.00	\$26.39	\$26.39
Simple Green	3.00	\$14.39	\$43.17
Cleaning Clothes	2.00	\$20.39	\$40.78
Paint Rollers	1.00	\$13.19	\$13.19
Buckets	2.00	\$9.11	\$18.22
Shipping	1.00	\$200.00	\$200.00
Diagnosis Fee	1	\$250.00	\$250.00
General Maintenance Labor Rate	60	\$80.00	\$4,800.00
		<b>Sub-Total ex Tax</b>	\$6,846.07
		<b>Tax</b>	\$0.00
		<b>Total inc Tax</b>	\$6,846.07

<b>Labor</b>	\$5,050.00
<b>Materials</b>	\$1,796.07
<b>Sub-Total ex Tax</b>	\$6,846.07
<b>Tax</b>	\$0.00
<b>Total inc Tax</b>	\$6,846.07

GacoFlex White Butyls and EPDM x

https://www.acehardware.com/departments/paint-and-supplies/waterproofing-and-sealers/roof-and-foundation-coatings/1765205

The helpful place.

Departments Sales & Specials Local Ad The Paint Studio Ace Project Place Ace Handyman Services

Enter your search term

You're shopping Wheeler's Ace Hardware - Capitol Heights, MD Open until 8 PM Store Info & Directions Services & Brands Change store

< Back / Paint and Supplies / Waterproofing and Sealers / Roof and Foundation Coatings

## GacoFlex White Butyls and EPDM rubber Roof Tape

Item # 1765205 | Mfr # GACOTAPE

☆☆☆☆☆ (0) Write Review

\$22.99

ACE REWARDS

Estimated Points Earned: 229

See Details >

-

5

+

Add To Cart

Add To Wish List

### Free Store or Curbside Pickup

Ships to store. Get it Fri, Sep 17 at Wheeler's Ace Hardware - Capitol Heights, MD

Check Nearby Stores

1:35 PM 9/8/2021

GacoFlex White Silicone Roof Coating 5 gal

Item # 1765189 | Mfr # GACSRC5

☆☆☆☆☆ (0) Write Review

**\$279.99**

**ACE REWARDS**

Estimated Points Earned: 2,799

See Details >

4 Add To Cart

Add To Wish List

Free Store or Curbside Pickup

Unavailable for pickup at Wheeler's Ace Hardware - Capitol Heights, MD

Item not available nearby

Free Delivery from Store

Free Delivery for Ace Rewards Members on Orders of \$50+

Roll Over to Zoom

50

Enter your search term

Wheeler's Ace Hardware - Capitol Heights, MD Open until 8 PM Store Info & Directions Services & Brands Change store

Back / Paint and Supplies / Waterproofing and Sealers / Roof and Foundation Coatings

1765189

Not syncing

1:34 PM 9/8/2021

Klean Strip Lacquer Thinner 128 oz

Wheeler's Ace Hardware - Capitol Heights, MD Open until 8 PM Store Info & Directions Services & Brands Change store

< Back / Paint and Supplies / Chemicals and Cleaners / Paint Thinners and Solvents

Enter your search term

A large image of the Klean Strip Lacquer Thinner product box. The box is blue, green, and orange. It features the 'Klean Strip GREEN' logo at the top, followed by 'Lacquer Thinner' in large letters. Below that, it says 'Substitute for regular lacquer thinner' and 'Thins lacquer & epoxy'. It also mentions 'Cleans tools & equipment after lacquer & paint projects'. The box is labeled '128 FL OZ (3.78 L)'.

A small, rectangular image of the product box, showing the front label.

Roll Over to Zoom

**Klean Strip Lacquer Thinner 128 oz**

Item # 1259043 | Mfr # GKGL75008

☆☆☆☆☆ (0) Write Review

**\$21.99**

**ACE REWARDS**

Estimated Points Earned: 219

See Details >

- 1 + Add To Cart

Add To Wish List

 **Free Store or Curbside Pickup**  
Please contact your local store for availability

In Stock at 10 Nearby Stores

 **Ship to Home**  
Unavailable for shipping.

10:38 PM 9/8/2021

Simple Green Sassafras Scent C... Not syncing

Wheeler's Ace Hardware - Capitol Heights, MD Open until 8 PM | Store Info & Directions | Services & Brands | Change store

< Back / Home and Decor / Cleaning and Disinfectants / Degreasers

Enter your search term



Simple Green Sassafras Scent Cleaner and Degreaser 1 gal Liquid

Item # 85257 | Mfr # 2710200613005

★★★★★ (8) [Write Review](#)

**\$11.99**

ACE REWARDS [See Details >](#)

Estimated Points Earned: 119

3 [Add To Cart](#)

[Add To Wish List](#)

 **Free Store or Curbside Pickup**  
In stock. Get it today at Wheeler's Ace Hardware - Capitol Heights, MD  
[Check Nearby Stores](#)

 **Free Delivery from Store** ⓘ  
Free Delivery for Ace Rewards Members on Orders of \$50+  
Schedule delivery as early as **Thu, Sep 9** from Wheeler's Ace Hardware - Capitol Heights, MD

Roll Over to Zoom



Ace Cotton Cleaning Cloth - Ace

Wheeler's Ace Hardware - Capitol Heights, MD Open until 8 PM Store Info & Directions Services & Brands Change store

< Back / Home and Decor / Cleaning and Disinfectants / Cleaning Cloths and Wipes

Enter your search term



WIPING CLOTHS  
WHITE COTTON F-SHIRT  
Item # 1002757  
Net Wt. 4 lbs

WIPING CLOTHS

ACE

\$16.99

ACE REWARDS

Estimated Points Earned: 169

See Details >

- 2 + Add To Cart

Add To Wish List

Free Store or Curbside Pickup

Ships to store. Get it Fri, Sep 17 at Wheeler's Ace Hardware - Capitol Heights, MD

Need it faster? In Stock at 10 Nearby Stores

Free Delivery from Store ⓘ

Free Delivery for Ace Rewards Members on Orders of \$50+  
Schedule delivery as early as Fri, Sep 17 from Wheeler's Ace Hardware - Capitol Heights, MD

1:39 PM 9/5/2021

Purdy Contractor 1st Polyester F X +

WHEELERS ACE HARDWARE - CAPITOL HEIGHTS, MD Open until 8 PM Store Info & Directions Services & Brands Change store

Not syncing

< Back / Paint and Supplies / Painting Tools and Supplies / Paint Roller Covers

Enter your search term



FOR PAINTING TIPS VISIT: [WWW.PURDYCORP.COM](http://WWW.PURDYCORP.COM) MADE IN USA

**CONTRACTOR 1ST**

ALL LATEX AND OIL BASED PAINTS

Smooth to Semi Smooth Surfaces

High Quality Polyester

3/8" Nap

9" ROLLER

**Purdy. 3PACK**

ROLL OVER TO ZOOM

Roll Over to Zoom



Purdy Contractor 1st Polyester 9 in. W X 3/8 in. S Paint Roller Cover 3 pk

Item # 1313923 | Mfr # 14E867000

★★★★★ (5) Write Review

**\$10.99**

ACE REWARDS See Details >

Estimated Points Earned: 109

- 3 + Add To Cart

Add To Wish List

Free Store or Curbside Pickup

In stock. Get it today at Wheeler's Ace Hardware - Capitol Heights, MD

Check Nearby Stores

Free Delivery from Store ⓘ

Free Delivery for Ace Rewards Members on Orders of \$50+.

Schedule delivery as early as Thu, Sep 9 from Wheeler's Ace Hardware - Capitol Heights, MD

1:30 PM 9/8/2021

Leaktite 5 gal CMN Bucket Blue Not syncing

Wheeler's Ace Hardware - Capitol Heights, MD Open until 8 PM Store Info & Directions Services & Brands Change store

< Back / Home and Decor / Cleaning and Disinfectants / Buckets

Enter your search term



Roll Over to Zoom



**Leaktite 5 gal CMN Bucket Blue**  
Item # 1503390 | Mfr # 05GACMN2120

**\$7.59**

**ACE REWARDS** See Details >  
Estimated Points Earned: 75

- 1 + Add To Cart

Add To Wish List

**Free Store or Curbside Pickup**  
In stock. Get it today at Wheeler's Ace Hardware - Capitol Heights, MD  
Check Nearby Stores

**Free Delivery from Store** ⓘ  
Free Delivery for Ace Rewards Members on Orders of \$50+  
Schedule delivery as early as **Thu, Sep 9** from Wheeler's Ace Hardware - Capitol Heights, MD

Waiting for us-central1-ah-acemarketingteam.cloudfunctions.net...

1:31 PM 9/8/2021

